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0,5 = tan~! |—22| = tan~! | =—2
AB NB - NA
56, = tan-1 | Z120 =50 _150| — 56°18'36"
ap = @0 500 — 1001~ " {700 |

®ap = 360° — 0,5 = 360° — 56°18'36"" = 303°41'24"
(Z) BRI AGpc KITALFAPpcHIHERE
®pc = Pap — 180° — @ = 303°41'24" — 180° — 46°31'13" = 77°10'11"
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aoljc - %QDAB —180°—a) = -1
o, d 2 0q\? o,

i ij (Ta) < () = %57 ome = o= 210
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15tHEE: £ op,

E; = Eg + L X sinpg: = —100 + 297.810 X sin77°10'11" = 190.374m
dEc _ 0 . :
oL = E(EB +LXx smchc) = sin@gc
OEc g (Eg + L X sinpge) = L X

= sin = cos
d0pc  00pc B PBC PBc

OE 2 OE-\%>  [0,..\2
o=t |(57) <ot +(5,0) *(75)
PBc p

O N2
0g, = |(sin@pc X 0,)% + (L X COS@pc X %)

n 2
Og, = i\](Sin77°10'11" x 0.020)% + <297.810 X €0s77°10'11" X —206265u>

0g. = 1£0.0198 = £0.020m
251ENe Loy,

Ng = Ng + L X cos@pe = 200 + 297.810 X cos77°10'11" = 266.133m

oN. 0
E = E(NB +LXx COS(pBC) = COS@pgc¢
aNC—a(N+L ) = —L x si
a(pBC = a(pBC B X COS(pBC = SINQPgc
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= JcoschCxaL) +( L X sin@gc X ;)pBC>

2
o 2 . o1n/ ne, -
+ [(cos77°10'11" x 0.020)2 + ( 297.810 X sin77°10'11" x 206265,,)
op, = £0.0148 ~ £0.015m
= E¢ t o, = 190.374 £ 0.020m
N¢ £ oy, =266.133 £ 0.015m
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g MHEETEAZ
(VAARETE [al = a; + ay + a5 + a, + as + ag

N &EZES, = [a]l — (n —2) x 180°

QM AR WGy = —f, /n

s $pc = Pap £180° L
(@) FtEH o T FE A B i S i

o AX = L,p X sin
AYHRE O X Cosas
(DHersErEET AY = Lyp X COSpp

TEFERA G 2= Wy = [Ax]  HEFERAGZEWy = [Ay]
(B)LHEE BUREEIEW, = YW + W

VXi=LiX%;Vy=LiX—

XB = XA +AXAB + VXAB

(A ffE 5 Ly A
(5()@@;%)?? PHAEEIP = T = o
BH—rEls wy

o~ B3 e Ak i = £ ABC (4eBlfrr ) 0 % 2 plk (total station) i 5 =< £ B 0 E T
a=12300. 00£0. 10m ~ b=16800. 00+0. 20m ~ «=38°00"00"+30" > Fw & ™ 7| i* 47 :
(m )k 2EFafFam?afiantitsm? (1564 )
(Z)FFcfak 2P 2 aop sk L6371k > F 38 (FTAB I BERen= & FARRIE > 1 Fly ifd
EXABA gL E R ? (104 )
B

A

A ERT |[AE GRS =AY AT ERERE T B S ZAAEA -

.%.%Eﬁqﬂ (=B ARHEE(—)ER) » F—ENEM > PS5
§§ :

-4



[11258%tA - 5E=E
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1 1
A = absina = 5 x 12300 X 16800 x sin38° = 63,610,143.63m”

04_01 o N_1,. A4
g—%(za sma)—z sma—a
aA_a(1 bsi )_1 A
ab_ab Za sina —2a5ma—b
aA_a(1b,)_1b A
aa—aa Za sina —2(1 COSC(—tana

_ aA 2 2 6A 2 2 6A 2 2_ _ O'a 2 O'b 2 1 O'a 2
0a = i\/(a) xo? +(5) xoi +(£) X 0g=0, = *A (7) +(7) +(mm><7)

0.10 \2 / 0.20 \2 1 30" \? )
0 = +63,610,143.63 x ( ) +( ) + = £11,877.10m

12300 16800 tan38° % 206265"

(D) 35 C BB R RItEkihRE
c? = a® + b? — 2abcosa

¢ =+/123002 + 168002 — 2 x 12300 X 16800 X cos38° = 10385.61m
c? 10385.612

C = —=
E™ 2R ™ 2x6371 %1000

= 8.46m
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